1. Fuifda ¥ ®n ve wfse Twen T8 &2 1. Which one is note a social problem?

(A) Ry (A) Unemployment
(B) Ftanita=or (B) Industrialization
(C) FA=eran (C) Iliteracy

(D) 1A= (D) Black money

2. At gwean 3 fadwar Fuifed § ¥ @ a8 2. Which of the following is not a feature of social

& - problem.
A) e ¥ wmfs (A) Social in origin
(B) siteiafea (B) Interrelated
(C) ‘Ieel Rufay ¥ o= (C) Tdea' Deviation from the situation
(D) &fReT (D) Personal
3. W ¥ T Wiplas quwan @l & 3. Which one is not natural problem:
) fegfe (A) Excess rain
(B) & (B) Earthquake
(C) 3™ (C) Famine
(D) ¥R (D) Corruption
4. Fwifda # ¥ a1 GuURGTS W & - 4. Which ofthe following is a corrective prblem
(A) WU (A) Drinking (Akoholism)
(B) Y (B) Earthquake
(C) 3BT (C) Famine
(D) sfigfe (D) Excess rain
5. fmifa & @ @ Afve aren & - 5. Which among the following is a moral problem:
(A) BT (A) Famine
(B) ¥R (B) Corruption
(C)wau= (C) Akeoholism
O©) 5 a9 (D) Allabove
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6. Tmifea ¥ } -1 o wwear & dgifd 6. Which ofthe following is a theoretical approaches to

T & - social problem:

(A) TmIioe Raes 3umm (A) Social disorganization approach

(B) Hieepicrs-faermamn 3urmy (B) Cultural-Lag approach

© ﬂ:ﬁﬂ-'\‘iﬂﬁ JUrTH (C) Value conflict approach

(D)5 & (D) Above all

7. Faifea & iy Ruea & meaor aF & 7. Which of the following are the symptoms of social

(A) BT & disorganization?

(B) Aftpae W AR (A) Loss of consensus

(C) wfeat 3R Gemsi &1 gad (B) Emphasis on individualism

(D) 30 |y (C) Conflicts of customs and institutions
(D) Above all

8. fFmifesa & | fdwar & Ha I3 ®Rd & 8. Which of the following is the major social factor of

%1 - poverty:

(A) 3ifre (A) Illiteracy

(®) f Y (B) Disease
(C)Wpkid FHT (C) Natural crisis
(D)gal & W (D) Burden of wars

9. Frifsa ¥ frefaar & omfss guRom @& 9. Which are the social consequences of poverty in the

(A) Fhramgfy following
(B) dwargfy (A) Beggary
(C) ¥R (B) Prostitution
(D)3 a4 (C) Unemployment
(D) Above all
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10.

11.

12,

13.

Fuifea & ¥ o9 amfoe fToes & ore &
(A) FdsiE Temd

(B) dnfis dRS

(C) a3 nfasprR

ESCR

Fmifeea # ¥ B v A T9wRT $1 I&EOT
g-

(A) W ¥ B et qEre

(B) wemial ¥ gfe

(C) T B T

(D) Rremgfa

s THR3 @ A # -
(A) feames 3meR

(B) Wivgpicis MR
(C)wiierra 3meR

(D)5 T

Foifea & ¥ S=-<0 e g v &
FeTEROT TR &P

(A) fdafea sas

(B) FEamgy

(C) Feazit &1 wirgor

(D) Fnferare
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- -

10.

11.

12.

13.

Which of the following are the factor of social
disorganization?

(A) Psychological condition

(B) Statutory factor

(C) Social mvention

(D) Above all

Which of the following is an example of a social
problem -

(A) Earthquake devastation

(B) Growth in epidemics

(C) Problem of drought

(D) Begging

What are the measure of social problem.
(A) Ideological basis

(B) Cultural basis

(C) Statistical basis

(D) Above all

Which of the following is not an example of social
problem.

(A) Unmarried life

(B) Prostitution

(C) Exploitation of women

(D) Casteism

P.T.O.
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14, Wi e & wpla wda v g .. |
waftr gt 21
(A) F¥ph
(B) WERT Hfer
(C) 3 =aa=en
() aRars

15. wRdYg dau # frdwar v awwar 21
(A) Traifres-anfife
(B) Infies-Taritfers
(C) 7= -TwTToTS
(D) IS Aipleres

16. Frefear &1 arad W Sies wR & e
gfaasit & 3va Bl
(A) 3Tee
(B) =7aH
(C) FRHRTAD
(D) T[S

17. Pmifea # ¥ 39-& o3 aen 9Ra & Fdaar &
W B T BRI -
(A) 3t faae
(B) wrerd foame
(€)Wt W 31t =g
(D) e e

VKA (H-3)Sociology(VII)2020/30730/A

14. The nature of social organization is always related to

15.

16.

17.

(A) Culture

(B) Government policy
(C) Economic system
(D) Project

In Indian context, povertyisa...... problem
(A) Social-economic

(B) Economic-political

(C) Psycho-social

(D) Socio-cultural

Povertyreferstoalackof ......... facilities for a normal
living standards

(A) Ideal

(B) Minirrum

(C) Comfortable

(D) Healthy

Which one of the following conditions is the major
cause of poverty problem in India?

(A) Industrial dispute

(B) Language dispute

(C) Excess expenditure on ministers

(D) Population explosion

https://www.vksustudy.com



AN

18. 51§ ¥ AR U« qrgar vg

......

s w9 ¥ ks <@ar &, a8 =9 Ten @

RIS BT I B
(A) Rrem

®) it

(O)==zg

D)ygas

19. 7 vE S #fiw B 0 2 wogd R
AL e ol el £2 B T o - | R e e s o

®el Fm -

(A) Frefe afes
®) fiftsa =it
, (CO)RR s
(D) fafera =fes

20. femr &% -

() wenfie fgm
(i) sihifers Rygr
(ii) T fygra
(iv) FHTSTETRA T

(A)i-d,
(B) i-b,
(C)i-a,
(D) i-b,

(a) o e A
(b) FiE
(c) weee 3R &l
(d) R

iv-a

i-¢,  iii-b,

iti~d,

1i-c,

ii-b, ¢, iv-d

i-a, ii-d, iv-¢
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18.

19.

20.

21.

When a person remains financially inactive even after
adequate qualificationand ...., then this condition is
called unemployment.

(A) Education

(B) Finance

(C) Health

(D) Effort

Ifa bonded laborer is forced to work without paying
any wages, then sucha personiscalled as ....

(A) Poor person

(B) Idle person

(C) Unemployment person

(D) Distracted person

Match

(i) Classical theory (a) Thomas and Naineki
(i) Geographical theory (b) Becaria

(i) Typological theory (c) Quetlet and Gurey
(iv) Sociologicaltheory (d) Lambrosian

(A)i-d, iic, i, iv-a
(B)i-b, ii-c, ii-d, iv-a
(C)i-a, b, 1<, iv-d
(D)i-b,  ia, ii-d, iv-c
Povertyisa

(A) Social problem

(B) Economic problem
(C) Political problem
(D) Religious problem

P.T.O.
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22. qT6 ARG B GROT B e ATUR &&ar g2 22. What are the major ground for concept

(A)3mg (A) Age
(B) ARTEN TEER B TP (B) Nature of criminal behavior
(C)(A) T (B) 2l (C) (A) and (B) both
(D) IR BIE &l (D) None of the above
23. 3009 ... g & a1 SIE-AWY ... 23. Crimes are .... and child crimes are .... .
(A) Stwagel, It (A) Purposeful, purposeless
(B) g1, 300 (B) Bad, Good
(C) Wi, 3Icael (C) Direct, Indirect
(D) IR DS 8l (D) None of the above

24, Fgifsa § P19 T 3R & A SROT &7 24, Which of the following is the social cause of child

A ar crime

(B) z‘rqu‘i ae (A) Broken homes

(C) IR FATH (B) Defective housing

(D) IR TN (C) Unhealthy recreation
(D) Above all

25. g TRER g1 T <arg sftfeas fsa af ug 25, In which year the 'Juvenile Justice Act', 'Child Justice

fsar mar - Act' was passed by the central government.
(A) 1988 (A) 1988
. (B) 1986 (B) 1986
(C) 1980 (C) 1980
(D) 1990 (D) 1990
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26.

27.

28.

29.

4R & I e & foe Faifea 3 | s
29NY GaQ s IAEr 21

.....

(C) 3T TR

(D) R

WRd WHR 7 {59 af Real qur s=mi &
It TR FRwe sftfom Tt der & e
foman|

(A) 1 5E, 1960

(B) 1 6, 1965

(C)1 78, 1957

(D) IRIH BI§ el

foifea & a9 Jwanit & @R &
(A) FITT qwaTd

(B) WRRufoe= v

(C) & Jwamd

(D) 3R /R

VKA(H-3)Sociology(VII)2020/30730/A

26.

28.

29,

Which of the following conditions are most responsible
for child crime in India

(A) Economic

(B) Political

(C) Family

(D) Industrial

. Merton ranked the state of ..... as the most important

among the cause of child crime.
(A) Rulelessness

(B) Urbanization

(C) Unhealthy entertainment
(D) Unemployment

In which year did the government of India enacted
the unlawful trade prevention act of women and girl's
all over the country?

(A) 1 May 1960

(B) 1 May 1965

(C) 1 May 1957

(D) None of the above

which are the types of prostitutes in the following
(A) Hereditary prostitutes

(B) Circumstantial prostitutes

(C) Concubines

(D) Aboveall

P.T.O.
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30. dvarqfd & AmfSe-Hivglhie oRe g 4

31

32.

33.

P 82

(A) 3fer Fefran

(B) foe=f sha= @ W
(C) 3R STl
(D) IRIE B el

. Jramte & guRom &2

(A)fear s
(B) d
(C) awIeraae
(D) JWRITH W

U & W IeRard sRor fgifea & s 87
(A)Efey &1y

(B) e

(C) AR

(D) IReH T4t

ST IR B R f5d g wga fesan
™|

(A) e

(B) ersirE!

(C)sifd=

D)ew
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30. Which of the following are the socio-cultural factors

of prostitution

(A) Over poverty

(B) Craze for modem living
(C) Abnormal lust

(D) None of the above

. Evil effects of prostitution is?

(A) Caste system
(B) Venreal disease
(C) Communalism
(D) Above all

. Who among the following are the main responsible

causes of alcohalism

(A) Effect of companionship
(B) Fashion

(C) Urbanization

(D) Aboveall

. Who was presented the theory of born criminals.

(A) Hawlins
(B) Lambroso
(C) Darwin
(D) Taft
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34, FProifea # &Y 39 IR TEER TR - 34, Who would call criminal behavior in the following

(») faafea zER (A) Volatile behavior
®) R Fh aEEr (B) Illegal behavior
(C) FFRMIT® TGER (C) Unsocial behavior
(D) FAT HAER (D) Abnormal behavior

35, qexeivg 3 IRt & aifiexvr f6a W ¥ 35. In how many parts did Sutherland classify criminals?

faar @2 (A)S
(A5 ®)4
B) 4 ©)2
(©)2 D3
D)3

36. EIAUE A SR I A WM H afeT &, A & - 36. Sutherland divided the criminals into two parts they

(A) g =t & snawredt are -

(B) ST 3TQTe (A) Lower-class criminals

(C) aaaT HuTeh (B) Bom Criminals

(D) A & C i (C) White collar criminals
(D) Aand C Both

37. gl f4gra ¥ ER SRy L T8 37. According to sociological theory, criminals are not......

2R afes T o & but made.

AR (A) Bad

(B) SHa (B) By born

C) IS (C) Good

(D) T9R (D) Serious
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38. WRAIT THIST & TaW § 3R & TR BRUT 38, In the context of Indian society, which of the following

T P 7 g8r is not a commor cause of crime.
(A) F7aUT (A) Alcoholism

(B) Tefers (B) Movies

(C) Tqa]YT (C) Sterilization

(D) RASRY (D) Unemployment

39, WRd ¥ 31aRTer-FRYe & TR ¥ PH-BF &2 39. Which ofthe comrectional programmes in India by the

(A) 3cT TaRn # FUR govermnment.

(B) uR&tem wometr (A) Prison reform

(C) 7 R Fg=or (B) Probation system

(D) IR TN (C) Control on alcoholism
(D) Above all

40. féer fremgfn Faro sftifeos @ wiRka f&ar  40. When was Bihar prevention of begging act passed.

| (A) 1950
(A) 1950 (B) 1952
(B) 1952 (C) 1947
(C) 1947 (D) 1960
(D) 1960

41, “TmTTe gue O eomal Y uuan @ 52 41. "Social problem isa set of conditions which are defined

Afers MR R TS A ftreis afwal gm as morally wrong by the majority within a society."
Ffa A ST @ (A) Lundberg
(A) gusst | // (B) Marton
(B) wA | (C) Ogbumn
(C) it (D) Green
(D)W=
VKA(H-3)Sociology(VII)2020/30730/A [10]
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42.

43,

43,

e ax -
frgdt s vor fagm

@ 15 (®) 3. W, T, IR
(i) 4 (@) 3. & va. o
(i) 3 (M) AT g
(A)1-&  2-@ 3-7

B)1-@ 2-T 3-B

©)1-1 2@ 3-®

(D) IRIH PIS el

faifa % B e & woR 7@ &
(A) ger-fhes

(B) SeT-THaf®

(C) I -fagls

(D) IReB T

(D) P T

WRa ¥ gga A wheal & o frangh v,

TS &

(A) @

(B) FARH
(C)ATE BaMI
(D) =m
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a

42,

43.

. Ra ¥ framgfe oo affe woen 7 AR Rgg 44,

45,

[11]

Match

Typesof Beggars Scholar

i 15 (a) Dr. M.S. Gore

(W) 4 (b) Dr. K.H.Cama

(m) 3 (¢) Social Welfair department
(A)l-a, 2-b, 3-c

(B)1-b, 2-c, 3-a

(C)l-c, 2-b, 3a

(D) None ofthe above

Which of the following are not the types ofbeggars

(A) Happy beggars
(B) Child-beggars
(C) Discased beggars
(D) Above all

In India, beggmng is not a religious problem but purely

(B) Geographic
(C) Socio-economic

(D) None of the above

Begging has become a
(A) Play

(B) Entertamment

(C) A and B both

(D) Profession

https://www.vksustudy.com
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46. ¥YRd WROR g1 fod ad ‘0 ARORS v’

47.

48.

49.

50.

ure fasar
(A) 1980
(B) 1985
(C) 1986
(D) 1990

YAt & gamErer o e ferdre
(A) 3forave aur iRa

(B) WRife

() frwer 3few

(D)3 &

foaos 7g & @1F SR & At g B @M ST
2.

(A) HORT & Fag & ARE

(B) 99 & 3@ ot & M & a
(C)Awd BaMI

(D) B &

frifsa & & 59 o o dvagfy & Wit
Orae® TRoTs BT ST ae & -

(A) fediRan

(B) et

(O vEH

(D) Rferan

URa ¥ Tau # e A fgitea ¥ & awe &
g of @ g Ifts wfaga w0 F wwifaa
foear @ -

(A) &= @l

(B) wies af

(C) Ae=Tereper att

(D) fameit &

VKA(H-3)Sociology(VII)2020/30730/A

46.

[12]

In which year was 'Anti narcotic Act' passed by the
govemnment of India?

(A) 1980

(B) 1985

(C) 1986

(D) 1990

. Who wrote the easy on The sociology of prostitution.”

(A) Elliott and Merrill
(B) Sorokin

(C) Kingsley davis

(D) None of the above

. Children convicted of child crime are kept in remand

homes

(A) During the trial of the crime

(B) After completion of probation period
(C) A and B both

(D) None of the above

. Which ofthe following conditions can be called the

most fatal result of prostitution
(A) Hysteria

(B) Gleet

(C) AIDS

(D) Jaundice

. The problem of alkcoholism in India has affected which

section of the society most adversely
(A) The rich

(B) Tourist

(C) Working class

(D) Students
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